MATH 221 PROBLEM SET 7 (DUE 10-23)

(This is the coversheet for the homework, The problems refer to Anton and Rorres 10th ed. of Elemen-
tary Linear Algebra: applications version. See Problem Sets 1, 2 or 3 for further formatting.)

Problem 84 § 5.1 #2 (check that it’s an e-vector) «

Problem 85 § 5.1 #6a,c,f (find characteristic equations for 3 x 3 matrices) /
Problem 86 § 5.1 #8a.c,f (find bases for e-spaces of the matrices in previous problem.)
Problem 87 § 5.1 #12 (find e-values by inspection)

Problem 88 § 5.1 #14 (on relation of e-value/vectors of A and A*)

Problem 89 § 5.1 #18 (characteristic equation for 2 x 2 fixed by trace and det)

Problem 90 § 5.1 #26 (on e-vector modification tricks)



fhosiem Ser 7 Sowunow

PRosue 84 (§5.142)
l o l
1} =lo| = o] :)F is e-Vedar
l 0 | wth R=0 for A,

T, = =
AX i ‘»-‘l " _ll
A =l 4
| Proeua 88 (€51 F 6a,c #)) Aind charackritic e ® foc A

4y-A ©
() cob (A-21) = ciﬂ/'b["'l a0 } = (1-2) (@-n0-3) +2)
-2 0 1-2
=-(A-1) ((A-4)(a-1) +2)
= —(R=1)(A"~52 + §)
T (A1) A2-3)(2-3) = 0)

it

\C') -2-A O |
db (A-23) = dib| -6 -2 ©
s =42

= = (A+3) (7&;1)[?&4):1 + | [-30 + 1q[7\+2)_}
((72) (Asd] + A + 8 = 0)= (@ somple
) e o)A
7 i w7 A “___)
. 5-2 ¢
b (p-21) = ou;b[ o g o
e

—

=\(5-2)[ ayan)) - 6(8) « 2 (A+r] = © )

roduam 86 [ (5.1 # 30,68 ) £id bosto for e-gpauo of tetriuo in previen oo,

(o) A, =1 Ao =2, Ay =3
r r . | -
W, = l} =2 U =]

“‘"\ﬂ | al.,_[j]! Qm% cx\_o:%m hJ«h) (M;V sl

Ao Te HOAL



[Prozcem 81 (5514513) : find e-voluao * iiupechon :]

= b)Y 3 o © (c. L 6 o0 o
(a.)“;s] ()l_th J;qiw
1 § o 3 i B
6] i
X :‘{, 21'-‘5 @__3‘,2 ?-'?‘ 2‘,1} © © B
] 2___L_-:.2
1 ] i
Rz =1, A =&

[Proscem 88 (55./#14) + Guen A=/

E’f\«l t-valao  and  e-fpaus

¢ A®
Mobe Av=2v = AYv = A Ay = ARy === AV
tns Fnd e-vabao For A and extrapilde. By
.)“L\ML.,%/ on o
RO INGES)
WY

= Q+)) (AT 2R +1)

Paoaiem &4 ($5.1#18)
«SIWW M M(KI"A): xl‘fr(AJ/{d‘MA: )

Lel A = ('f‘ j] Se Arr(ﬁ)';m—kd and o(o/f)P\:txcl—bc,

()\ij (XI_A) -:'M (-c A ~d

= ?\2_+r(H)K+M(A)_$ O .




| PRosier G0 (§s-/#z€)j

Find  e-vinlus sl e-spato’ bus/s A, ﬁ}:%ﬁzz 32 23-/
wnel ’//LW Ve feswlte ok Ereteises il
(#H (A7 hwo L b f AveRy)

Ead (IF A hoo Avzlv flun (A-rf/v:@-;)y}}

T 14")1/ bao seo for 4/?4-2 e-spa &2 of
(a.) ﬂ"l (6.}4-3]_‘/ ce.) A+2T

~2-A 3_2;.{ 23]
Aub (A-71) = M[:*? 2 S5-A
& .,(7\4“2][(3-3)(}\-5)4]—2(2C%—5)+€)+3(-w+q(3“;{))
= _ 204 A - UA 6

. _a-y@-2)(a-3) ¢ A2l A=z, 4, 2F
s 3] A e} - /
(A"I)(j; = [—2 ": ljwl :[ﬂ'] = M: 2[‘?/
-y 24 °

s L
- /XJF-J

- _ _ §

(0.:) A hao A =i, A = 3
- .-. J

w,ﬂ\ Aﬂ. Jon~g Uhru-;,’, Ul! E-——ue.u{-urr e A'..

Usa) A"Sr I‘IM 2,:/-37-‘2/ X.‘_*z-f’ 2_.—. = 0

-

-

. -t -
O Mwet with W, u @, .

€) A+2r heo X =3, A4, Ay 25
{



